

$$2 \times Q_r \times Q_r = 2V \rightarrow \frac{2}{r} \times 2r \times 2r = 2r = 2V \rightarrow \boxed{r = V}$$

الف) $q = 3$ $S_{10} = q \left(\frac{q^{10} - 1}{q - 1} \right) = 3 \left(\frac{3^{10} - 1}{3 - 1} \right) = 3 \left(\frac{59048}{2} \right) = 88572$

ب) $a, a \times q, a \times q^2, a \times q^3, a \times q^4, a \times q^5, a \times q^6, a \times q^7, a \times q^8, a \times q^9$ $\rightarrow (a \times q^{10}) - (a \times q^0) = (a \times q^{10}) - (a \times q^0) = (3 \times 3^{10}) - (3 \times 3^0) = (3^{11}) - (3^1) = 88572$
 لقد شارب صوت جان داربول ناليد

$a, ar, ar^2, ar^3, \dots$

$a - ar, ar - ar^2, ar^2 - ar^3, \dots$

$\frac{ar(1-r)}{a(1-r)} = r$

$a(1-r), ar(1-r), ar^2(1-r), \dots$

الف) $S_n = a + a + d + a + r d + \dots + a + (n-2)d + a + (n-1)d$
 $+ S_n = a + (n-1)d + a + (n-2)d + \dots + a + r d + a + d + a$

$2S_n = ra + (n-1)d + ra + (n-1)d + \dots \Rightarrow \frac{2S_n}{2} = \frac{n(ra + (n-1)d)}{2}$

$S_n = \frac{n(ra + (n-1)d)}{2}$

ب) $S_n = a + aq + aq^2 + \dots + aq^{n-1}$
 $- qS_n = aq + aq^2 + \dots + aq^{n-1} + aq^n$

$S_n - qS_n = a + aq^n \Rightarrow S_n = \frac{a(1-q^n)}{1-q}$